a 20134 ‘[?1 A3 L 37 R RA 23%

¥ =16z
f

o
S
=
m ~
—%\
>
>
s

a |
D

/

ACAK 2 AmBn (2

K} QJT&:-\ ﬁfr-k.‘

@k fpa 4+ k= 443~

. ) e T .
L AABHA 5x TX (B ) = 2%

%K\ —
Hc:eaﬁi/

Mo, 4Rk 2 daqas

o 182

L34 518 & Balms

ABY BCk 4y (2

Ve

‘?—%_Ei k("]‘-ro)/

eﬂ-

HCxen =28 ch B

He= 4/k= 23 @h=

U 89

=y

K

2, 2k
= ) 44 z&x(iff—k) = :ﬁf =2(k

'.,———-:

Ve

—

Bas Loy 52,
K2p 5%
0<K< 4y 2p 57

" C 0, QUF)Z) c)gh

2,

—

VK

L ogkal

o) o

9

—

k

)



¥ 20131’:}_%‘% 4\3! g‘_-g?ﬁb /'0&3\)'_7\,(}‘ }15,{‘\52‘ 7“% 9\8“\1"

2
2 g, AR dord, o 2embed A=t

Y o b
OB 4+ PE o BATRS 12
D) - |
’ ’ PR ~oF = 6 (2%, A3 4

;/ O R TS T T S
@2k P@—f PEel BT 6

A 602, FAA F ok 25

1ol BAL HAE L AR (WAL 1Y

oF = € = Ja4 A= oLl bm



